

са ѿста́нали. Глѣдай гнѣ ѿнаредѣны.

$$8\frac{1}{2} \times 48 = \frac{48}{96} \quad . \quad . \quad . \quad 48$$

$$5\frac{3}{4} \times 24 = \frac{72}{96} \quad . \quad . \quad . \quad 72$$

$$6\frac{7}{12} \times 8 = \frac{56}{96} \quad . \quad . \quad . \quad 56$$

$$\hline 19 \quad . \quad . \quad . \quad \text{цѣли.} \quad \quad \quad 176$$

$$96 : 8 = 12 : 2 = 6$$

$$176 : 8 = 22 : 2 = 11 \frac{6}{11} .$$

$$11 \left| \begin{array}{l} 6 \\ \hline 1 \frac{5}{6} \end{array} \right. \quad . \quad . \quad . \quad \text{дѣлѣмъ изъ ѿменователя.}$$

$$6 \left| \begin{array}{l} 1 \frac{5}{6} \\ \hline 5 \end{array} \right. \quad . \quad . \quad \text{количество.}$$

5

19

$$\begin{array}{r} 1\frac{5}{6} \\ \hline 20\frac{5}{6} \end{array} \quad \text{всѣте}$$

$$\text{только е } \text{ѿмалъ} \quad . \quad . \quad 25\frac{5}{8} \times \frac{5}{6} = \frac{30}{48} - \frac{40}{48} =$$

$$\text{только е } \text{далъ} \quad . \quad . \quad 20\frac{5}{6} \quad]$$

$$\begin{array}{r} = 1 \times 48 = 48 + 30 = 78 - 40 \\ \hline 48 \quad \quad 48 \quad 48 \quad 48 \quad 48 \end{array}$$

$$\text{всѣчките} \quad . \quad . \quad . \quad 24\frac{78}{48} \quad . \quad . \quad 78$$

$$\text{дѣдените} \quad . \quad . \quad . \quad 20\frac{40}{48} \quad . \quad . \quad 40$$

$$\begin{array}{r} \text{ѿста́налите} \quad . \quad . \quad 4\frac{19}{24} \quad . \quad . \quad 38 : 2 = 19 \\ \hline 48 : 2 = 24 \end{array}$$

Глѣдаме зашто́то не мѡжатъ да сѧ ѿз-